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valgrind

valgrind -v --leak-check=full ./a.out

Invalid write of size 4
at 0x80484A0: f (memory.c:21)
by 0x80484C1l: main (memory.c:26)

40 bytes in 1 blocks are definitely lost in loss record 1 of 1
at 0x402A059: malloc (vg replace malloc.c:263)
by 0x8048499: f (memory.c:20)
by 06x80484C1: main (memory.c:26)
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first

insert at tail
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newptr
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first

insert in middle
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insert in middle

predptr

newptr
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hash table

table[0]

table[1]

table[2]

table[3]

table[4]

table[5]

table[6]

table[24]

table[25]




In 2 room of n CS50 students, what'’s the
probability that at least 2 students have the
same birthday?



p(n)=1.(1 3255)'(1 325)”'(1 n3g51)
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- = 365!
5365 — n)!
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BIRTHDAYS ON THE SAME DAY
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linear probing

table[0]

table[1]

table[2]

table[3]

table[4]

table([5]

table[6]

table[24]

table[25]




separate chaining

1
2 S. Adams

3

4 |(@+—» J Adams |@+P W.Floyd ]A
5 /]

6 |@1—>| T.Heyward /]

7 A

8 |@1—| J. Hancock lél

?0 C. Braxton [Q]—’l J. Hewes ]A
11

12

K G carol @} W.riooper |]
:Z A Clark @} ¥ W.Eley /]
17 B. Franklin

18

19 J. Bartiett_|@}—»{ S_Chase |@} B_Gwinnen [@} L Har /]
20

21

22

23 G. Clymer IQH E. Gerry m
24 .

25 B. Harrison

26

27




node* table[31];



typedef struct node

{
char word[LENGTH + 1];

struct node* next;

¥

hode;



— children of this parent
stblings of each other

¥ leaves



http://en.wikipedia.org/wiki/Birthday_paradox
http://en.wikipedia.org/wiki/Birthday_paradox

binary search tree
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typedeft struct node
{

int n;
struct node* left;
struct node* right;

¥

hode;
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typedeft struct node
{

bool 1s word;
struct node* children[27];

}

hode;
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to be continued...



